PRT4000

NIPPON POP RIVETS AND FASTENERS LTD.



PRT4000



PRT4000

il
|

e o =
[: = B2
1L

il
|

JIS T8147

p.3)




A E

1.

10.

=
B=
I

PRT4000

p.3)




Ya—Tyyv—2FV¥

) =AN9I 5

#1737/

l\(/ICSN”éO)i%é
&

YFLALILYYaYYATA)
EE7 L (MCS4000A-08)

N
o ALY S—-ERTEER.
DTEREROBBEEDTHED,
o ALY A—ERLERET.

ERZRARBLBLTIRED,

*)

PRT4000

P.15 B

MCSRBH7F¥a>vTd

TAINARY ) 21—

FTILYA—

Uhyh) ERTS fe8 g
v (R 1/4)
HELTOWEEA (B P.0 31B)
BESA)L
A E & PRT4000A
o BRRSENY o BTEROBOTT LY 5~ 4RI TORACLEL,
(MCSBLORA)

0. 44~0. 54MP a ctogmeran.
(4. 5~5. 5kgf/cmt)
BATSENEBA THALLRA. ARFBAL.

BRVBEEAIBNIBYET,
o ACAB TOABORR. BERTOEOTIRSL,
i AARTHROBADSOENBOTIEN

o BFREREOA WIS THT BRR) £EAL TS

o ATEBOBO LY A—ERAY TTRASL S,
(MCSHEORS)

o CRAMCEBORBFBLNERBL, BRIGO1:
Hal. ERELHDBRICHL THEO,

o ERZSHEBORRBRRICTo TS,

o CHANCRBRBELBTHRAVLLE. ELLS

ERCKEL,

.98




PRT4000

P.15
O
mm
20 | 24 ] 25 | 3.0 | 3.2
(@] (@] (@] (@]
(@] (@] (@] (@]
(@] (@]
(@]
(@]
(@] (@]
(@]
(@]
(@]
YRy FFOR
2V ELIL Za
— =
@®1.83
3.2
P ©1.93 | PRN414 | 414
@3.0 @®1.83
@®@3.2 | @1.83 | *PRN434 | 434 |PRT4000-02|@2.4| PRG402-8A | ( )
@2.5 @1.45 -
@142 | PRN314 | 314 N
2.4
P ©1.45
©2.0 | ©1.10 | PRN214 | 214 *PRT3000'5 ©1.6| *PRG402-02
*
P.3
P.11
P.9



mm

mm

mm

0.44 0.54 MPa (4.5 5.5 kgf/c

)

P.4)

25
49

230

88

PRT4000



P.9

DRy kY=L

PRT4000

P.15 ]

FrvIFvi—
TILoE—

P.4
P.11 ]
AN500-72
0.44 0.54 MPa 4.5 5.0 kgf/c
Ty I774)L%
r—2R
(omme)
REEemmELLE
HELT
WEHA h735 (U5 h)
(?&# ) S
B¥ITH# 20SH
" 2Z0SM
" 208F
HhI5 (F59) _—
ANS00-72
EfeZE S BEEEED
R 1/4

][4
o




P.6

P.6

PRT4000




PRT4000

B+ .
— kL
A

-
o A YRy kY=L

RT 4 f
-

/—XE—R

&ﬁﬁbt?yFbm




PRT4000

No

2 3,000

mm
mm mm
N FO—YvsERLY
PRT#000-03
$a—Tyye2FYvy
PRE5T0-123 <
I=AngSyy e
PRT4000-01 ’/ S
_ S
/ 2 Z Ja—-Tuix 2
PRT#000-0Z, PRT4000-50 \ 72
- (BE 2~3m )

PE
PRG402-8A, PRG402-02
Ja-H#4F

PRHB20-TTA R

I/

—H4A FADY Y AR%H
(HEHmE%ERYT)




Frv I8
PRT4000-34

HEO+M L

HWMEF A NREOTH B
HBmT&ETHEATS

774Y&T
3l&#&<

FT2~3ER
EXFVEBEHSES

- 10 -

PRT4000

Qg:;g) I7ZEX Y

Fytk>vTY

<~ PRT4000-18A, TLW-AS

PRT4000-20A, 0-RING-P9 (1A
PRT4000-21, 0-RING-P58 {1
PRT4000-22, NUT-M8-T5
PRT4000-24

FryrN—
PRT4000-25

- TJA4NAIYa

PRT4000-06




PRT4000

P.4

mm

J—=XEB—R =Ny
PRN414 PRT4000-01
PRN314

PRN214

PRN424

—
P.4
(P.9)
P.4
P.9

P.9

- 11 -



PRT4000

P4

PO P11

P9

(P9

P.10

P.9

P.6

P.16

P17

P4

P.6)

P9

P.10

- 12 -



PRT4000

No. No.

1 |PRN414 4 1 38 |0-RING-P4(1A) |0- PA(1A) 1
2 PRN314 3 1 39 |PSEAL-PS15 PS15 1
3 PRT4000 01 1 40 (B-RING-T2P15 T2P15 1
4 PRH820 11A 1 41 |0-RING-P15(1B) |0- P15(1B) 1
5 |PRG402- 8A 1 42 |PRT4000-17 1
6 PRT4000 02 1 43 |PRT4000-18A 1
7 |PRG510- 123 1 44 |TLW-A8 A8 1
8 PRT4000 03A ASSY 1 45 |PRT4000-20A 1
62 PRT4000 03A—1 1 46 |0-RING-P9(1A) |0- PI(1A) 1
63 |PNT600- 60 0- S6-1A 1 47 |0-RING-P58(1A) |0- P58(1A) 1
64 PRT4000 03A—2 1 48 |PRT4000-21 1
65 [PRT4000-03A-3 1 49 |PRT4000-22 1
9 PRT4000 04A 1 50 |NUT-M8-T5 M8><T5 1
10 |C-RING- RTW22 C- RTW-22 1 51 |PRT4000-24 1
11 |O-RING-P18(1B) |0- P18(1B) 1 52 |PRT4000-25 1
12 PRT4000 05 1 53 |PRT4000-26 1
13 |0-RING- P12(1B) 0- P12(1B) 1 54 |0-RING-G65 0- G65(1A) 1
14 PSLGOOCJ 13 T2P12 1 55 |AN500A-51-6 0- P12(1A) 1
15 PSLGOOCJ 14 PS12 1 56 |PRT4000-27 1
16 PRT4000 06 1 57 |PRT4000-28 1
17 PRT4000 07 1 58 |PRT4000-29 1
18 |0-RING- P22(1B) 0- P22(1B) 2 59 |PRT4000-30 1
19 B- RING T2P22 T2P22 1 60 |PRT4000-31 1
20 PRT4000 08 1 61 |PRT4000-32 1
21 O RING 826(1A) 0- S26(1A) 1 PRT4000-37 1
22 PRT4000 09 1

23 |E-RING- 10 E- 10 1

24 PRT4000 10 1 No.

25 |SS-M6*5 M6><5 1 PRM530-49 5mm 1
26 PRM530 40 3><20 AW| 1 PRT4000-33 1
27 PRT4000 11 1 PRT4000-34 1
28 SPIN 3*8AW 3>=<8 AW 2 AN500-72 20PM 1
29 PRT4000 12 1 PRT4000-36 1
30 [PRT4000-13 1 PRG 1
31 SPIN 3*14AW 3x<14 AW | 1

32 PRT4000 14 1

33 O RING P16(1A) 0- P16(1A) 1 No.

34 PRT4000 15 1 PRN434 4 ( )
35 [SS-M4*5 MA><5 1 PRN214

36 PRG51O 56 1 PRT4000-50

37 |PRL600-10 0- P6(1A) 3 PRG402-02

- 13 -



PRT4000
36

34

hubbdd

Y JMHH wmww%wwwww
I
o®

- — e 8 —

DQRRXRANER@A @ MWUWWWNMMMMWNMUAKW

1

3
4
11

6

—J N —

- 14 -



PRT4000

mm
IVRFry S %O
PRT4000-10
JR—=y2F Yy
PRT4000-08 S
—— Yy
Ny L PRT4000-10
PRT4000-04A oy Ty —

PRT4000-15 ; .‘v
(BLET]

PRT4000-10

MCSF vy TPy o —
MCS4000-01

aLss—

NCS4000A-07 //\\
aLyA—0vs+ytb

JR—22FYus MCS Z L

PRT4000-08
WCS4000A-09
NCS4000-06 KEEF Y b
NUT-N10-T5
. DY
MCSF Yy TPy d— oYy

MCS4000-01 0-RING-P16 (1A)

UCS4000A-09
ouvy RARS v b
0-RING-P16 (1A) NUT-M10-T5

PRT4000-04A

- 15 -



PRT4000

aLya—  ([LED

UL

i

MCSF vy TPy sy—
MCS4000-01

A
muAll
u

@2.0
@2.4
@2.5
@3.0
@3.2

- 16 -



P.12

PRT4000

>
3
nf

aLsaayhty b

- 17 -



PRT4000

100 | MCS4000A
111 | MCS4000-09

101 | MCS4000-01

102 | 0-RING-P7(1A) - P7(1A)

103 | NUT-M10-T5 M10 5
104 | MCS4000A-09

105 | MCS4000A-06

33 | 0-RING-P16(1A) - P16(1A)

37 | PRL600-10 - P6(1A)

23 | E-RING-10 - 10

106 | MCS4000A-07

107 | 0-RING-1033(1A) - 1033(1A)
108 | MCS4000A-07-1

109 | MCS4000A-07-2

110 | MCS4000A-07-3

MCS4000A-08




